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Paper IV : LAW OF CRIMES - Paper-1 — PENAL CODE
(2011 Admission Onwards)

Time : 3 Hours Max. Marks : 80

PART — |

(Explain any five of the following. Each question carries 2 marks. Answers should not
exceed 50 words each) ;

i

(a) Wrongful confinement
(b) Public nuisance

(c) Dowry death

(d) Counterfeiting coin
(e) Defence of Accident
(f) Conspiracy

(g) Criminal intimidation

(5 x 2 =10 Marks)

PART - I

' (Answér any four of the following questions. Each question carries 4 marks. Answers

should not exceed 120 words each.

2

(a) Distinguish between common intention and common object. -

(b) In all robbery there is either theft or extortion. Explain.

P.T.O.

(c) Explain what is kidnapping. Distinguish it with abduction.
(d) Explain how the group liability is fixed between Principals and accessories.

(e) Distinguish between criminal misappropriation and criminal breach of trust of
property.

| (f) Explain what is an unlawful assembly? Distinguish it with rioting
. (4 x 4 = 16 Marks)
PART — Il
(Answer any four of the following questions. Each question carries 6 marks)

3. (a) Pooja, a college student aged 20 had thick, long, and beautiful hairs. One
day while she was sleeping in her class Reji one of her classmates cut and
removed her hairs. When she woke up she found that she had no hairs.
Examine whether Reji has committed any offence.

(b) X was bitten by a snake and he approached Y a person who uses traditional
methods for treating those who are bitten by snake. Y believing that X was
bitten by a cobra gave some medicines to him. Though consumed the
medicines, X died on the next day. Examine whether Y has committed any
offence.

(c) A married B and were living together. After 2 years of their marriage
A underwent another marriage ceremony with C, a transgender and started
living with that person. Examine whether A has committed any offence.

(d) M stabs N during a fight. N was taken to a hospital and while he was being
shifted to a stretcher, N was hit by a lightening and dies. Examine the
liability of M.

(e) X takes a girl of 10 years from her father in order to save her from the
marriage with a man of 50 years which was fixed on the next day. The girl’s
father makes a complaint alleging that X has committed the offence of
kidnapping. Decide.

(4 x 6 = 24 Marks)
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